HSSC Auto Electrician 1_2020 Cat 17 (16.8.2021) Paper

2.

K 12020 35,
1. th is the rating for Red fuse ? nw '&ifé{({:{ﬁqm% 3
2 Amps (B) 5 Amps (A) 2 PR ot
§ 10 Amps (D) None of these (C) 10 vRfrR (D}) 5%
2. ™hich the following 2. frem ﬁﬁu_: w3 i
“ndustrial estate District irentes ver
- Kundh 1. Fatehabad a m ﬁ“’l
b. Samalkha 2. Sonipat b 1 o )
¢. Tohana 3. Gurugram . HHeran o Firar r
d. Roz-ka-Meo 4. Panipat c. drEwn = Wifing l
odes: d. 'ﬁ'il-im—lﬂ:q‘ 3. Tenm
a b ¢ d T . 4. Tt ‘
(A) 1 2 A.R a W o N
2 4 1 3 o R T
4 1 2 38 E‘(‘H 4 1 (
™3 2 1 4 e 5 1.
3. The material used for lining of fricti 3. =9 "
surfaces of a clutch should have L b HE anfim & &
(A) H; : . angf o . & fom
42 High and uniform coefficient of — ¥ T
frfctjon (A) odoy =5y 359 3w 3
(Ef) High resistance to wear and scoring ferara 3 ¢ I@'? R T,
(C) High heat conductivity S hifin %+ fou =
(D) All of the above y (€) I=9 bt ATeH ) Hfi-‘lﬁu
. (D) I miy
4. }' Ifth generg tiOn
C{)m t.e L, : D§ » 1 -
the concept of M A) et iy Rl e R ee—
(A) Microprocesseor T seha # S
(B) Artificial intelligence (A) TSR
(C) Vacuum tyubeg (B) 3 fwurs ofasm
(D) Integrated circuits ©) a?x‘{g =20
(D) 5 Tragem
5. ;J\]Hte e ilfo il';:tg consists of a cluteh 5 4
frictiona mﬂteria]s!des are faced with a . __?‘E‘TH ﬁ@fﬂ?%mtm@
(A) Sing] : T3 T T A A E |
gle plate clutch A) fime
fB) h’fllltip!v [}late Clut,ch ( } téz ERE]
(C) Cone elutch (B) Uﬁﬂﬁlﬂi R FE
(D) Centrifugal cluteh (C) 7% Fo19 .
" (D) FZEF Fod
. The Golden Pe
Pt en of Freedom award 2020 6?\. Meaq U ST reH [N 2020 _—
?1’;) Maria Ressa, The Philipines ﬁ}ﬁm W}E': 2R
) damal Khboge.Souti s | ) T e et
(C) Jineth Bedoya Lima, Colombia (C) g 2 m,ﬁﬁm
(D) None of the above D) - 1 B A
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11.

12.

13.

_ 12020 (17)
Wha(t‘ " t?‘e material of cylinder block 2 .
(A) Castiron (B) Brongze . ot i i L i
(C) Brass (D) Zine alloy (({4’ aaafﬁ Gl (B) Frg
. I‘)

Whlch among the following award js fsfafea 5 iy -
given b}'IHalryana Govt. for life time \qﬁm‘mmFﬂWMm
contribution in sports for men ? I % fer e 4 At AR &
(A) Dronacharya Award fere o s E 3
(B) Vikramaditya Award AY EE , ST
(C) Maharana Pratap Award ({(1“3‘) gEmTm W/W
(D) Ekalavva Award (D: m ;::m
A number consisting of 2 digits is 4 times : :@ 2 S 1 TE, 3 HEH 7 ﬁ’ %
the sum of its digits and if 27 is added to an 2 3 afz Siﬁ 27 A ﬂ';l A ﬂ
it, the digits get reversed. The number js C @Z T4 | gEm ii LA L -
oy )6 ' %&z? (B) 63 2
(C) 35 (D) 36 | - © (D) 36 £ 2
Upper deviation is the deviation why 10. 370 fawe @ famgem 2 @0 ”ﬂ
gives the y ?‘ 2 2_,{
(A) Minimum limit of size (A) HATFTE H B Ch L] T "S}.‘
(B) Maximum limit of size ] AR F Sferan \$
(C) Both (A) and (B) () T (A) 3 (B)
(D) None of these () % & F1d 7
g pan ﬂﬂd the lower part of the m ﬁ'ﬂ h BﬂT fﬂﬁ'&f m % ﬁ'ﬂﬁ m ﬂ
eylinder block together are called the — WHEY __ wmamm R
(A) Piston ring (B) Cyhnder liner (A) freea f (B) fadz s
(C) Piston pin (D) Crank case () fwem fom (D) % &5

utility is used to create the 1% w 1 3am fEd fz=s

copy of the complete or partial data stored
n :; digk or CD on any other disk,

(A) Backup

(B) Antivirus

(C) Compression

(D) sk defragmenter

In Haryvana, Hathni Kund Barrage is
located on _ river.

(A) Saraswat)
() Sahibi

(B) Yamuna
(D) Dohan

-3-
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ﬁﬂfﬂﬁﬂﬂﬂm'ﬁ?ﬁ?mmﬁ

b
4

must be prese 14.

to Cﬁntin[:h- w!:jt ul:u ca;nnhmnuon for a fire FFA T & o0 WA 8 m 7 e ’

(A) Fuel, Heat, Oxvgen (A) fuq, Fe, STEdTa

(B) Fuel, Heat, Carbon dioxide (B) dua, F=, F1i BT AR i

(C) Fuel, Heat, Hydrogen () JuA, FH, e |

(D) None of these () wril & wé ‘
1. Amoney bill can be introduced 16, wh A REE o gy p

(A) Only in Lok Sabha
(B) Only in Rujva Sabha

(A) HaA #E T o
(B) ®a 750 691 |

(C) Only in Councal of States () Fae T e
(D) None of these (D) " 4 #1§ T

16.  The hydraulic jack is based on which of 16, Egiers A% Fafefa 93 farg o
the following ¢ AT B 7 {
(A) Bernoulli's principle (A) T % fagia
(B) Pascal's law (B) wra 1 faam
(€) Archimedes’ principle (Lj{\;ﬂlﬁm 1 fqzm
(D) Boyle's law ) afaa &1 frm

' iy lnﬁv:hu:jh district of Haryana, manganese 1 wfamm & fa f= 1 frfis o AR 7
1s found ?

(A) Mahendragarh  (B) Gurgaon (A) "%Q’W (B) ‘13"'3
(C) Hisar (D) Karnal () femm (1) & _

18. Identify the relationship betweer \ RS FM2 A 3 wensdi & 5y o3 1’):,
two numbers in the first pair»  and | AR oA T T ww | gz 14{ |
the missing numbers in the Ad pair. e Ny B Y49,
16:68::36: 16:68::36: %" |
(A) 210 (B) 2.0 (A) 210_- ®) 216 TN K
(€) 222 (D) 226 (©) 222 (D) 226 ,}23 of |

L' |
19.  The crankshaft is made of the following | 19, & frsfafaa amft § wn 2 -3
e A) Frat Fha |
(A) Nickel steel A) = |
(B) Nickel chrome steel () e I iy
(C) Nickel chrome molybdenum steel (C) ﬁaﬁ #m grfeegay &ha
(1) All of the above (D) 37 o
20. \'r'h:;‘t should come in place of question é‘lﬂ o fa= (1) % 9w § F/= wom 2
mark ? At =
UBGAN] wpe 12 4.9 | X
(D AR ‘1"""\"’]\-
ZISINEE] S
A) W (B) X (A) W B) X
(C) V (D) U (C) V ([P/U

g
Acd CD EF GH: 1T el M W AR
p 4w B % Rl RS
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27.

2 the followip,

: B sty
y ¢ east nyy,

of
ber of (

iram
(B) l’anchkula
(D) P‘nriduhud
ding ¢, Sacch

éwas sub-tﬁtidl::lfwmum' &

. ary
into o
(A) 2

M .
(D) 4

\'elomt}‘ of g

330 Ound in a v

S medium i

- I8 increageqd by
in t?mpvrnture,

: Sound in the gas i

(A) 330 me-t

(C) 156 ms-!
Which chige
Erooves ?

(A) Flat chise]
(B) Web chisel

(C) Half round nose chisel
(D) Diamond point chise]

lis used for cutting o]

. @ famous lake
mentioned in the 11" Centu

Al-Beruni called ‘Kitab-ul-Hij

ind’,
(A) Damdama (B) Badkhal

(C) Brahma Sarovar (D) Karna

of Haryana was
Iy memoirs of

21,

" -
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3 % fraw i 99— faw s
wifia § ¢

) forga s, s afe wrfe

B) faega v, dreza st s
tc.‘)ﬁgatm,n‘lr—hmwﬁﬂu
m-.ﬁ‘tréa.vhﬂnamﬁgaummm

(A) 430 mg-!

(C) 156 mg-!

T &% &Y ey 3
o s 2 4
(A) T2 a6
(B) 97 w5

(C) B 133 Fry g
(D) e uigz o
11 7 ) sre-ae
T -Tm-fee
vz de
(A) avam

(C) T8 |/

(D) 990 mg-t

e {5 5 =01 3

#1 sfawem 6

— T
TEa )

(B) wzws

(D) @
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29.

30.

31.

32.

33.

34.

Which of the follow v

below is/yre n'ur? nliazﬁmr ]f:l.lﬁﬁttfl’:)hm:m

1. Air pallution causes various discases
rt_wlated to respiratory, nervous and
circnlatory system.

2. Air pollution can also cause scid rain
(A) 2Zonly

(B) 1enly

(C) Both 1 und 2

(D) None of the above

Who identified the Sanctuary Potential of
Sultanpur National Park of Harvana ?
(A) David Attenborough

(B) Salim Ali '

(C) Peter Jackson

(D) Steve [rwin

In a certain code language BOARD is
writien as 33169 and 'NEAR' is written as
2416 How 13 'NODFE' written in that axle ?
(A) 2894 (B) 2394
(C) 2694 (D 2934

Which bearing used 1n fly whee'
water pumgp

(A) Ball bearing

(B) Roller bearing

(") Needle beanng

(D) Taper roller bearing

_____is a special high-speed memaory
made up of high-speed static RAMs.

(A) Read Only Memory (ROM)

(B) Programmable ROM (PROM)

(C) Dynamic RAM (DRAM)

(D) Cache memory

Who plundered the peacock throne of
Shah Jahan ?

(A) Timur Lung

(B) Nadir Shah

(C) Ahmad Shah Abdali

(D) None of the above

‘Gilgamesh' 1s a epic of
(B) Greeks

(D) Mesopotamans

(A) Egvptians
(C) Mayans

8-

-1/2020 (17)
28, ﬁqﬁ!ﬁa‘ﬁﬂm-mmmﬂ?“*
mAgaR? _
|,a@m,ﬁm.ﬁ&m13mm"'
mmaﬁam&mmmm
z,ﬂmﬂmaﬂ'ﬂﬂmtl
(A) FaE 2
(B) Fad 1
() 1 s 2 3
ELEEEAE
" mr:mgmmﬁ /
(A) Bfag vaan
(B) gefm St
() e s
(D) &
30. @ qiFAF w0 §‘BOARD #1 53169 s

3L

32.

33.

7¢

NEAR #1 24 16 feman s &, @t 36 W o

NODY: #1711 famn qmom 7
(A) 2894 (B) 2394,
() 2694 (D) 2934

weird ste i A A fem aaRn @
Jam fan A R 7

(A) Wiet FafT

(1) TR FAf

() #3E

» - M

(D) 25 T
 smmmARMEWATS
fasmy 3ea nfa arit 2 |

(A) T2 sieft qard (ROM)

(B) mTEES W (PROM)

() Tfae W (DRAM)

() %7 7

g el & o e A A A
(A) AT

(B) ATfeT TR

(C) e v earett

(D) 39 4 3§ Frf o

‘e frman wErmE R 7
A) fowmEr—" (@)
() Ararar (D) wEfvaranh
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39,
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(B) Feed Pump
) Fip

Mathemnhmnn
——1n 16842,
“A) Logarithm s
pier's Bones
"\ddil'lll machine

“'hi(:h of

the fol) .
hound_an- ilﬁﬂm‘;g?w shares jis

! aryana Govt. promotes
he glimmlmn of loea) vaneties of troes w

har Haryal; Yojana

ar Haryal; Yojana
(C) Har Ghar Harvali Yojap

(D) Har Nagar Haryal; yr

In Ha ‘ann . > oasically a holy
thread which consist of kaudi (shell of o
small fish), one coin and one arecanut.
(A) Manda (B) Mandi

(C) Chanda

(M None of the above

(A) Har Sha
(B) Har Pah

Which of the following testing 18 not the
type of Non-destructive testing method 2
(A) Dye penetrant testing

(B) Ultrasonic testing
(") Hardness testing
(D) All of the above

Western Harvana plains differ from
the Eastern Haryana plain because of
the presence of & number of sand dunes
lm:arlv known as _ of varying
heights and magnitudes in Western part
of the state

(A) Bagar

(B) Ghar
(C) Ghaggar

(D) All of the above

37,

49.

10,

i

.
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(B) 18 74
(D) v, 51 .
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() warm qfigm
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45.

16,

47,

Which is the Imme

and wupport
(A) First Aid

(B) Call 4 doctor
() Intensive caire
(DY None of these

diate life mnving care

The design or en
Mpon

(A) The unit Pressure botweon the
A raking surfaces
BT

¢ coefficient of friction between
the braking surfaces
() Th

¢ periphers! veloeny of the brake
drum
(D) Al of the ahave
Which of the following 16 the high spoed
engine ?
(A) Internal combustion engane
(B) External combustion engine

(€) Both () and ()
(D) None of these

pacity of n brake depends

Which one of the following statep
wrong about Supreme Court of ]

(A) It can transfer Judges of ~
Court,

8
a?

~0

(B) Its decisions are bindiug on sl
courts,
(C) Can move cg

ses from any court to
ieelf

(D) Itean't transfer cases from one
High court to another.

Calipers are used with steel rules whose

accuracy is himited o

(A) 0.01 mm (B) 0.1 mm

() 0.5 mm D) 0.05 mm

This is an instrument with only 0 single
string which is attached to s piece of
bamboo. What 15 the mnstrument called ?
(A) Ektara (B} Saranm
(C) Been (D) Khanjari

8-

42

13.

H.

45,

16.

17,

112020 (17,

mmtﬁwmm
A-mh
“\)mﬁmm
lB)mi::gm

(') T
:mﬂ“#w
hﬂmmm X
A R

A) W wA & 6 g zaE |
{mmmﬁ%m_ﬂhﬂm
(€) W 39 %1 i an
10)3‘“.7“” ‘

fre # @ F-m Fea f aven A R 7
) WA 2 T

(©) 24 (A) 3 (B

(D) 0 | &g
Frefafea 3 8 9-m w51 wa &
Hales AT % wau 1§ e § o

(A) TR T=2 AT & grEanfio
wrArafta & g% R

(R) ¥ Fol =it =rvreat w0 svoarhh & |
() et o e 2 w3 o
e g R

(D) 7% I=9 ATEA R gE § Amen
AR T w5 gea |

___wfnk

mwmmtmﬁ%mm
a2 Fad) g & Hify
LG

(A) 0.01 mm (B) 0.1 mm

(C) 0.5 mm (D) 0.056 mm
afa & v 7w U AR a1l Tt
am I8 ﬁﬁg mwm %9

(A) FHAW (B) am

() 19 (D) wwd
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19.

50.

51,

52.

53.

54.

55.

A cell 15 an el
conaisting of
(A) Two electrolytes and
(B) Two electrodes and
() Two electrydey and
(D) None of these

ectrochemical devies

an olectrode
an eloctrolyte
two electrolytes

What is the name of the tool 2

(A) Flat scraper
(B) Hook scraper
(C) Half round s“Crapor
() Tnangulur scraper

If 118 subtractod from the

last digt of
cach numbers below, how many nu n?berﬁ
thus formed i divisible by 2 7

474 609 821 945 247
(A) One (B) Two
(") Three (D) Four

—— emit pollutants directly frr
the engine into the at mosphere.

(A) Fuel tank and carburetor

(B) Fuel tank and crank cas

(C) Crank case and exhaus vstem
(D) Fuel tank and exhaust

Which of the following architects planned
the City Museum in Chandigarh ?

(A) Le Corbusier  (B) Frank Lloyd
(C) Renzo Piano (1)) Norman Foster
are the isotopes of carbon.

() 5C.C @)-4e, e

(©) 5C.%C D) .70

The mean of first 10 natural numbers 18
(A) 55 (B) 55

() 5 (D) 50
In KMP Expressway of Haryana ‘K’

stands for
(A) Karnal (B) Kaithal
(C) Kundh (D) Kurukshetra

48.

19,

50.

51.

52.

\f}?.

@

55.
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|

(A) @ geAwgIoSE SN UE TS
B) 2 it vk

() @ yeagTs 3 A
(D) s & wré

78 %1 A W R 7

==L

(A) FIZ WO
(B) & wrerft
) m;_m's W

(1) Framfm gre

L4
(A) e ¥ a3
ok i
(C) ek ¥ 3t o faem
() F& ¥ 3R wAi
frfafaa 4 7 fom argen 3 wdmg A
TR FuEreE &) A g4 7

(A) o wrfam (B) % =tz
(C) ¥ fgwn (D) 7 w2

FAT & qEET (FEEEM) R

(A) 5C.'5C B) NG RC
(C) BC. R0 ) “e'ic
WY 10 WiFHAE FEms m o R 2 9.
(A) 65 (B) 556 '
(C) o (D) 50 a (.

eaom % % 7w, v & 4w | (*
e R
(A) T (B) %ua

(C) Fvaeh (D) Fwara
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59,

60.

61.

62.

When abhig

Ketting head is 7h%, , i
of not getting h e‘ad_' find the probability
(A) @ I
i ® 3

= ]
(€) ,i (D) None of these
When the frictional force is great enough
to apply the brake with no external foree,
then the brake is said to be
(A) Radial brakes
(B) Self-energizing brakes
(C) Self-locking brakes
(D) Axial brakes

The modulus of the comp. & number
2+1

— 18
d-1
gy 5 .2
f)3 ()?‘3
“ 3 2
((-}E (D)':i‘

Equal volumes of all gases at the same
temperature and pressure should contain
equal number of molecules. This 1s
L I
(A) Avogadro's
(") Lavoisier's

(B) Gay Lussac's
(D) Dalton's

In car cooling system a pump circulates
water through the engine and through
the pipes of the
(A) Radiator

(C) Capacitor

(B) Fins
(D) None of these

sed coin 1s tossed, the chance of

i
Downloaded from www.cclchapter.com
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i 7 g e @ e faen f
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ek
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(B)ﬁ—mh
(C) Teh-aTEn d
(D) sEa 7+

@ ey wem =1 & A R

y% (B) :;3

((‘)% () %
61. At el % HuA FEAE H, FHH A9 30
HAF 2 T ! ) e T w) e |

IR % frm R |

(A) wEhE (B) T T
() sarfoaT (D) ez
62. mﬁﬁnmﬂi&wwm%m
A 3 aTEq % Wy § o
yafa w8 |
(A) Hfguz () fe

() wenfra (D) 1 7 %1 34
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63, According to Vayu Purana, which of the | g3 qmgm¥ e, Frerfefia 4 2 st %
following place of Haryana is believed as T T Y WA TN & 4 T WA
the birth place of Lord Hanuman ? —

(A) Hisar (B) Karnal (A) feam (B) I
(C) Kurukshetea (D) Kaithal () FHEA D) Fa,
64. Which of the following is the Fusion 64. fr=fafaa i ﬁ FA-H1 T afeen 2 7
welding ? - _ (A) uffe afeen
(A) Thermit welding fs e
(B) Gas welding (B) s :
(C) Electric arc welding () gefage s afesn
M) All of the above (D) 37wt
65. The Poona Pact was signed 65. T Mt S =i A, I, AT H
betwoen Mahatma Gandhiji and e 0 Az § < e fae o A 7
Dr. B. R. Ambedkar in s
(A) 1932 (B) 1934 () 300 (£ v
(C) 1929 (D) 1931 () 1929 (D) 193¥
66. Consider the following statements about |  66. %‘iﬁa Fwiiara & gy A Frefofea Fo
Arvind Kejriwal. R famm =t |
1. He was awarded with the Ramon 1. 38 20061 T HdY FEE & TEEd
Magsaysay Award in 2006. & T |
2. He is national convener of Aam , 0. g8 3 el Uird| (tl_,t{.ﬁ.)‘ﬂ =
Aadmi Party (AAP). AT 2 |
3. He was a former Indian Adminy  ave 3, 98 TH lﬁ m 'm'mﬁﬂ; 'aa‘
Service Officer. e 4t |
Which of the above statements are correct T A Y -9 FEA FA B 7
(A) 2 and 3 (B) 1and 2 (A) 2303 (B) 13K 2
(C) Land 3 (D) All the above (C) 130 3 (D) 35 =R
’ 7
67. What is the name of the file ? 67. I w1 AW FI R .)
£ ’
.4”,:§Vf; ;
BN
A) Hand file
:B; Ra cut file (B) TR % BiE
as R
: . () fore e wEd
(C) Single cut file e i o
(D) Curved cut file D) .

Downloaded from wWw.cclchapter.com



-

68. Which amon
18 said to be t
Haryang 9

(A) Lakhmi Chand (B) Ali B
(C) Daya Chand (D) Muk91:8$adav

~———_ Computers are al
-~ : s0 known as
Personal Computers,

(A) Mini
(C) Super

the followin i
e father of fcflkpflrg:::ehg

(B) Main frames
(D) Micro

70. Which of the following type of brake is
commonly used in railway trains and
tram cars ?

(A) Band brake

(B) Shoe brake

(C) Band and block brake
(D) All of the above

71 If A means X', B means ‘+, C means ',
D means*— then 18A2B64C8D 101s

(A) 34 (B) 38
(C) 36 (D) 31
72. ‘Altamira’ is a cave site in
(A) Italy (B) Ge any
(C) Spain (D) Portugal

73. During 1789 — 1794, Delhi and Haryana
were ruled by

(A) Madhavrao Seindia
(B) Mahadji Scindia
(C) Rajayi Scindia

(D) Raja Umed Singh

74.  Who among the following was the first
ever Indian to receive the highest civilian
award of the country “Bharat Ratna” ?

(A) Bhagwan Das
(B) M. Visvesvarayya
(C) Chandrasekhara Venkata Raman

(D) None of the above

1/2020 (17)
o8, Frcrs i 3 i a1 <
Cal
0 s o
(€) 7 =T oy R
6o Wﬁqﬁﬂaﬂ“'@[ hal
1‘?‘;{ (B) T %
(C) g = A P
# 9 far g H
70. mmmﬁwmmt?
m)ﬁiﬁﬁ
(B) 7 ¥ ‘
() g 3l &=TH 7
(D) TTrE A e

71, -4t A & TFe" x, B 1 Haad '+, CH
: “imgra <+, gl Her 2@
18°€ 2B 64 ¢ 8D 10 F AW A 2

\)hat B) 38 ¥,
((0) 36 D) 31 \§¢
i Fip-

72. u?erﬁ:mgwl v 2w i fom R 7 ¢

(A) T2l (B)
() ¥ (D) AT

73. 1789 - 1794 F anM feeeht 3 wfeon w
1 ITEA o1
(A) "rara fafam
(B) weresh fafian
(C) Trarst fafen
(D) nmaﬂzﬁ!a/

74, Frefefad 1@ 2w 2w wete i g

"R T T 3 el Teet MR o1 2
(A) WTEH 219

(B) . favavatan

(C) FZIE A2 T -~

(D) 794 ° 8 F18 78
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75.

- then Ng ;
took part in Wab of Jhaj;
British rule,"he revolt of 1857 against
(A) Nahar Singh

(B) Samand Khan

(C) Abdur Rahman K
(I Salim Ay n Khan

76. The highest Permissible temperatures
recpnlmended for leather, fibre and wood
facing brake lining materials are

(A‘) 65 - 70°C (B) 90 - 105°C
(C) 180 - 225°C (D) 120 - 150°C

77.  Find the power of a concave lens of focal

length 2m.
(A) 2D (B) —1D
(C) -0.5D (D) —0.25D
78. Haryana State was formed on the
recommendation of
(A) Shamlal Committee
(B) Sardar Hukam Singh Committee
(C) Chand Committee
(D) Neki Ram Committee
79. Which is the physical hazard ?

(B) Vibra’
(D) Radi .ctive

(A) Smoking

() Corrosive
80. Efficiencies of wire rope socket with

zine 18

(A) 100%

(C) 97.5%

(B) 99%
(D) None of these

81. Which of the following river in the
southern Peninsula has the second
largest river basin covering 10 per cent
of the area of India ?

(A) Krishna (B) Godavari
(C) Mahanadi (D) None of the above

82. Who was the First Chief Election
(lfommissioner of India ?
(A) S. P. Sen Verma
(B) T. Swaminathan
(C) Sukumar Sen

(D) None of the above
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7. wsor & aeama FamE A fafew
& fawg 1857 % fage & wm fern |
A) Tz T
(B) aug @™
(C) FUH @H
o

76. S, HEE 3N gz G ¥ TEFn $
fere sruifem seaan g aoam Fref
4
(B) 90 - 105°C
(D) 120 - 150°C

(A) 65-70°C"
(C) 180 - 225°C

77. Wied S9E 2m F Us Haae @4 i ufFd
1 H |

(A) -2D (B) -1D
(C) -0.5D (D) -0.25D
78, wawn T R R e
(B) gren 7 oz afufa
(C) afe afafa
(D) Fht ™
79. Hifeh o FA-TR 7
(A) THTH (B)
(C) & (D)

0. Fi % @y 9 19 Hiche H Al
praptes. 1

(A) 100% (B) 99%

(C) 97.5% (D) 3 ¥ F1§ TE

g1, =faoft s # Freferfaa & 3 Fw-df =+
TRE F &A% F 10 Wfawa sr=sned &

70 Zat g 78 A WA R 2
(A) Fo1 (B) TheTad
(C) WETE (D) 35 H | %8 T

82. A 1 TR G FATE AR FA 012
(A) TE, . B i

(B) &, @A,

(C) TFT
(D) 394 9 | 18 FE
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En lish Lan age
83.

84. Inthe follow ing

85.

86.

In the followin

N given iy Active (or P ) voi
Qut o?l.he fou wtives g L
select the one which he

[ saw him leaving the house.
(A) He ha been seen leaving the
Ouse,
“) He wag SCen to be leaving the house.
(€©) Leaving the house he was seen by me.
(D) He was seen leaving the house by me.

question, a sentence has
N given in Direct/Indirect speech. Out
of the four alternatives suggested, select
¢ one which best expresses the same
sentence in Indirect/Direct speech.
“What did you eqt for breakfast today '
the doctor asked the patent,
(A) The doctor asked the patient
whether he had eaten breakfast

at day.
({rr'lq;]e doctor asked the patient wh

he had eaten for breakfast thr
(C) doctor asked the patiep
whether he has eaten bre:
that day. '
(D) The doctor asked the patient
whether he was eaten breakfast
that day.

In the following question, choose the
appropriate word from the given options
to complete the sentence. The options
given are confusing words which may have
similar meanings. Select the option which
best fits the meaning of the sentence,
His account is a rendering of
what actually happened.

(A) factious (B) fraqtious
(Cl¥factitious ( Ctitious

Add suitable question tag to the following
Statement.

I can help you, ¢
(A) can't | (B) canl
(C) were | (D) could |

87.

88.

89.

90.

1/2020 (17)
ikl
s
o1 e )l A AR
ey rent B
(A) FATE
(B) TR
() fagram
(D) 3 @ #E A

mm-—_‘ﬂﬁ;mmmgl
.

(B) st

(C) T

(D) %38 A #1é 7

TR A TG4 AT 31 A 3 H A wes)
F U A 9 U e v ) T A 2, A
WHAH _ Fwad

(A) HOTH

(B) gfy

(C) HFFR

(D) 378 & =ré

Ralioii CE TR T ——
RIBNCES ) HFR B B
(A) Ian

(B) ¥
() fawaifF
(D) 57 & *rd =¥
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